ALGEBRA Quiz 3.6

1. Classify the following polynomial:
4y3 – 4y2 + 3 – y2


(2 points)
2. The fence around a quadrilateral shaped pasture is 3a2 + 15a + 9 long.  Three sides of the fence have the following lengths: 5a, 10a – 2, a2 – 7.  What is the length of the fourth side?
(2 points)
Simply the polynomials in questions 3-5.
3.  (2b2 – 9b +11)(2b + 1)







(2 points)
4. (5a2 – 6x)(5a2 + 6x)







(2 points)
5. (4y – 3)2








(2 points)
6. Use mental math to calculate (a) 882      (b) 46∙54




(4 points)
7. Factor 4x3 – 20x2 + 3x – 15 






(3 points)
Completely factor the expressions in questions 8-14.
8. 36x2 – 64  








(1 point)
9. 3x2 + 5x + 2 








(2 points)
10. 32x3 – 24x2 – 8x








(3 points)
11. w2 + 18w + 77








(2 points)
12. d2 + 2d – 48








(2 points)
13. 24g2 – g – 10








(3 points)
14. 80y2 – 210y – 245







(3 points)
15. The volume of the prism is given.  Find expressions for the possible dimensions of the prism.
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(3 points)
16. The Cutting Edge frame shop makes a mat by cutting out the inside of a rectangular board.  Use the diagram to find the length and width of the original board if the area of the mat is 184in2.







(4 points)
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17. A square painting is surrounded by a frame.  The outside edges of the frame are x inches in length and there is a 4-inch border between the painting and the frame.  What is the total area of the border?









(3 points)
18. The top of a rectangular table has an area of 18x2 – 33x + 12.  The width of the table is 2x – 1.  What is the length of the table?






(3 points)
19. A circular hedge has a square sculpture in its middle.  The radius of the hedge is 6x feet.  The side length of the square sculpture base is 2 feet shorter than the radius of the hedge.  What is the area of the hedge?  Write your answer in factored form.



(4 points)
20. The polynomial 3πx3 + 24πx2 + 48πx represents the volume of a cylinder.  The formula for the volume of a cylinder with radius r and height h is V = πr2h.  Write a linear expression for a possible radius of the cylinder.






(3 points)
